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.SUBCKT TRBUF IN OEB OUT

M1 N7 OEB VSS1 VSS1 nchl L=0.14u W=0.85u M=1
M2 N33 IN VSS1 VSS1 nchl L=0.14u W=0.85u M=1
M3 N33 OEB VSS1 VSS1 nchl L=0.14u W=0.85u M=1
M4 N1 N7 N33 VSS1 nchl L=0.14u W=0.85u M=1

M5 OUT N33 VSS1 VSS1 nchl L=0.14u W=0.85u M=1
M6 N7 OEB VDD1 VDD1 pchl L=0.14u W=1.6u M=1
M7 N1 N7 VDD1 VDD1 pchl L=0.14u W=1.6u M=1

M8 N1 IN VDD1 VDD1 pchl L=0.14u W=1.6u M=1

M9 N33 OEB N1 VDD1 pchl L=0.14u W=1.6u M=1
M10 OUT N1 VDD1 VDD1 pchl L=0.14u W=1.6u M=1
.ENDS

.SUBCKT HITSUMR DOUT IIN VL VM
XDIF_COMP_1 IIN N3 DOUT VL DIF_COMP

M1 N3 VM N17 VSS1 nchl L=0.4u W=b5u M=1
M2 N17 VL VSS1 VSS1 nchl L=1u W=bu M=1
M3 N4 N2 VDD1 VDD1 pchl L=1u W=5u M=2
M4 N2 N2 VDD1 VDD1 pchl L=1u W=b5u M=1
M5 N3 IIN N4 VDD1 pchl L=0.4u W=b5u M=2
M6 IIN IIN N2 VDD1 pchl L=0.4u W=b5u M=1
.ENDS

.SUBCKT DIFA_D_HALF AIN AOUT BIN BOUT VH VL
M1 AQUT BIN N7 N7 nchl L=1u W=5u M=4

M2 N7 N6 VSS1 VSS1 nchl L=1u W=5u M=4

M3 N7 N6 VSS1 VSS1 nchl L=1u W=bu M=4

M4 BOUT AIN N7 N7 nchl L=1u W=bu M=4

M5 VSS1 N6 VSS1 VSS1 nchl L=3u W=5u M=20
M6 AQUT N34 VDD1 VDD1 pchl L=1u W=b5u M=12
M7 BOUT N34 VDD1 VDD1 pchl L=1u W=b5u M=12
M8 VDD1 N34 VDD1 VDD1 pchl L=3u W=b5u M=60
R9 VH N34 10K TC=0.0, 0.0

R10 VL N6 10K TC=0.0, 0.0

R11 AOUT VDD1 30K TC=0.0, 0.0

R12 VSS1 AOUT 30K TC=0.0, 0.0

R13 BOUT VDD1 30K TC=0.0, 0.0

R14 VSS1 BOUT 30K TC=0.0, 0.0

.ENDS

.SUBCKT DIFA_D AIN AOUT BIN BOUT VH VL
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M1 AQOUT BIN N7 N7 nchl L=1u W=b5u M=8

M2 N7 N6 VSS1 VSS1 nchl L=1u W=b5u M=8

M3 N7 N6 VSS1 VSS1 nchl L=1u W=5u M=8

M4 BOUT AIN N7 N7 nchl L=1u W=bu M=8

M5 VSS1 N6 VSS1 VSS1 nchl L=3u W=b5u M=20
M6 AQOUT N34 VDD1 VDD1 pchl L=1u W=b5u M=24
M7 BOUT N34 VDD1 VDD1 pchl L=1u W=5u M=24
M8 VDD1 N34 VDD1 VDD1 pchl L=3u W=5u M=60
R9 VH N34 10K TC=0.0, 0.0

R10 VL N6 10K TC=0.0, 0.0

R11 AOUT VDD1 30K TC=0.0, 0.0

R12 VSS1 AOUT 30K TC=0.0, 0.0

R13 BOUT VDD1 30K TC=0.0, 0.0

R14 VSS1 BOUT 30K TC=0.0, 0.0

.ENDS

.SUBCKT LVDSR AIN BIN DOUT VH VL Gnd VDD
XDIFA_D_HALF_1 AIN N1 BIN N2 VH VL DIFA_D_HALF
XDIF_COMP_1 N1 N2 DOUT VL DIF_COMP

.ENDS

.SUBCKT LVDSD D DGND VH YO Y1

XinviP_1 D N1 inv1P

Xinv4P_1 D N3 inv4P

Xinv4P_2 N1 N23 inv4P

M1 N24 VH VDD1 VDD1 pchl L=1u W=b5u M=48
M2 YO N23 DGND DGND nchv L=1u W=bu M=24
M3 Y1 N3 DGND DGND nchv L=1u W=bu M=24
M4 N24 N3 YO YO nchv L=1u W=bu M=24

M5 N24 N23 Y1 Y1 nchv L=1u W=bu M=24
.ENDS
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